5+0=

5.

5 - 4=

01000

2+0-=
OEOE

13.

2-0=

OOO®

GO

5-2=

HOOG OO0 BEOO®

1+0=

010010,

5+ 4 =

Ql0/00,

5-2=

01000,

3+2=

O@WEE

5+ 4 =

7.

5-5=
HOOE®

11.

2+2=
OOO®

15.

5+3=
@OE

19.

4+1=

Q000

01000

16.

5+0=
0000

20.

4+1=

OGO



5+0=

0000

HOOE

2+0=
OEHO

13.

2_-0=
0000

17.

5+2=

0000
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Gemischte Aufgaben

2.5_2: 3.5+4: 4.4_ )
OO0 OO OOeO
6.1+0= 7.5_5= 8.1_1=
00000000 M0000
10.5+4= 11.2+2= 12.4_ )
OO0W® COO® OO®E
14.5_ ) 15.5+3= 16.5+0=
OO OOOE OGO
18.3+2= 19.4+1= 20.4+1=
OWEOE OOWE OOOE



